Chapter 5 Quiz:  Data and Process Analysis

1.  A ________ model shows what the system must do, regardless of how it will be implemented physically.
 a. dictionary 
 b. logical 
 c. structured 	
 d. physical 

2.  Data and process modeling involves three main tools that do NOT include ________.
 a. data flow diagrams 
 b. process descriptions 	
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 d. physical design 	

3.  A ________ diagram uses various symbols to show how the system transforms input data into useful information.
 a. data flow 
 b. source 	
 c. information flow 	
 d. context 	

4.  A(n) ________ receives input data and produces output that has a different content, form, or both.
 a. process 
 b. iteration 	
 c. diagram 
 d. sink 	

5.  Processes contain the business logic, also called business ________, that transform the data and produce the required results.
 a. guidelines 
 b. domains 	
 c. laws 
 d. rules 	

6.  A data ________ is a path for data to move from one part of the information system to another.
 a. element 
 b. sequence 	
 c. flow 	
 d. diagram 

7.  A process that produces output, but has no input data flow, is called a(n) ________.
 a. illogical 
 b. spontaneous generation 	
 c. functional primitive 	
 d. logical 

8.  A ________ is a process that has at least one input and one output, but the input obviously is insufficient to generate the output shown.
 a. black box 
 b. black hole 	
 c. gray hole 	
 d. blue box 	




9.  A data ________ is used in a DFD to represent data that the system stores because one or more processes need to use the data at a later time.
 a. structure 
 b. store 	
 c. tree 	
 d. flow 	

10.  The symbol for an entity is a ________, which may be shaded to make it look three-dimensional.
 a. triangle 
 b. square 	
 c. rectangle 	
 d. circle 

11.  A ________ diagram is a top-level view of an information system that shows the system's boundaries and scope.
 a. process 
 b. context 	
 c. control 
 d. logical 

12.  ________ zooms in on the system and shows major internal processes, data flows, and data stores.
 a. Diagram 1 
 b. Diagram 0 
 c. Process 0 	
 d. Process 1 	

13.  A ________ is a process that consists of a single function that is not exploded further.
 a. black hole 
 b. diagram 0 
 c. terminator 	
 d. functional primitive 	

14.  ________ is the process of drawing a series of increasingly detailed diagrams, until all functional primitives are identified.
 a. Sequencing 
 b. Looping 	
 c. Leveling 	
 d. Controlling 	

15.  ________ is also called exploding, partitioning, or decomposing.
 a. Leveling 
 b. Sequencing 	
 c. Processing 	
 d. Balancing 

16.  Data elements are combined into ________, also called data structures.
 a. records 
 b. iterations 	
 c. skeletons 	
 d. domains 	

17.  The data element's standard name, which should be meaningful to users, is called the data element ________.
 a. label 
 b. neither name nor label 	
 c. either name or label 	
 d. name 	

18.  The data element's ________ is the set of values permitted for the data element.
 a. entity 
 b. design 	
 c. domain 
 d. source 	

19.  A(n) ________ is a data structure that contains a set of related data elements that are stored and processed together.
 a. DFD 
 b. record 	
 c. entity 	
 d. model 	

20.  The completion of steps in sequential order, one after another, is referred to as ________.
 a. looping 
 b. selection 	
 c. spontaneous generation 	
 d. sequence 	

21.  Modular design is based on combinations of three logical structures that do NOT include ________.
 a. source 
 b. iteration 	
 c. selection 	
 d. sequence 	

22.  Iteration is also called ________.
 a. sequencing 
 b. decomposing 	
 c. partitioning 
 d. looping 	

23.  A decision ________ is a logical structure that shows every combination of conditions and outcomes.
 a. table 
 b. entity 	
 c. record 	
 d. sequence 	

24.  Decision trees show the logic structure with ________.
 a. roots at the right, branches to the left 
 b. branches at the top, roots towards the bottom 	
 c. roots at the top, branches towards the bottom 	
 d. roots at the left, branches to the right 	

25.  Many analysts follow a ________ approach, which means that they develop a physical model of the current system, a logical model of the current system, a logical model of the new system, and a physical model of the new system.
 a. complete-model 
 b. logical-model 	
 c. control-model 	
 d. four-model 
